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Answer Key:
1.)  B
2.)  D
3.)  B 
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Which function, f(z) =22 — 7z — 10 or g(z) = v/z + 4, has the greater value when x = 5? What is

the value?
A ffie=20
B £(5)=3
C g9®=20

D ga5=3
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The length of a rectangular-shaped deck is 5 meters longer than its width. If the area of the deck is
66:m?, what is its length in meters?
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At the end of 2006, the population of Riverside was 400 people. The population for this small town can
e modeled by the equation below, where ¢ represents the number of years since the end of 2006 and P
represents the number of people.

P =400(1.2)"
Based on this model, approximately what was the increase in the population of Riverside at the end of
2009 compared to the end of 20067
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